Instead of having a Total value in my table, I would like to have the average of 3 countries (AFI, BNL, FRA) in this Total field. So for FCO72200421 it is (2.51+3.28+2.43)/3  = 3.57. So the 3.10 in Total will then be replaced by 3.57.
The expression for the numbers in the table (2.51, 2,77 etc) is:
 Sum([Sum of Total Sum of Hours [ITM]]])/Sum([Count of EQ ID])
The dimension name for AFI, BNL etc is: Market and for FCO72200421 is: FCO
[image: ]
Then I have a new graph with the column opportunity. In this formula I need to refer to the “average of 3  value”  (in the Total field)  in the previous table. In the formula below referring to the value should be at the place where the 3.1 is now in the formula below (see yellow marked)

[bookmark: _GoBack]((1-Sum([Sum of Total Sum of Hours [ITM]]])/Sum([Count of EQ ID])/3.1)*Sum([Sum of Total Sum of Cost [ITM]]]))*-1[image: ]
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